ARy ratnaigl rhisay = fe)

 (ay \a(o er=A 3“ £=38

wherc £<¢e . In_ cneral. 3“ s: exh bits
a

S:r\ﬁu\&r Behau;a\" and W IA)ler's

PN

ok

xV

]

_ single layer  twolayers

b 3 4

*V

_interior (aye;-f .. correr layer

L | _' mncr- laye.r-

o  outer _.____l_a_yer |
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necA +his 4o m;sk

Thus w(x) --'g'(x\ 15 a Solubown of

+the $irst arder eqn




___q/m Corner Laver Examgle--
D) E‘a -:-xu\ -y =0 xé(—-lél')
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: . { uinzy — v(e)Y :L%_\ \
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| é 3 8 ’

- Selution g is odd

3(_” L a(-)"-i
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___(JJ|4|.\ z=.__x
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 Prand+4 Ma+c;hahq Fails,
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‘Inne r Prob\em e
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~moktches For some « 8 validates the
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 Solukiom of 3 is

Y ¥) = ae  + be 2 ) e dt

Smce. «alx E) 13 odl Y. l'X) mus-\- bt -l'ao) ao a -o
S 5 B
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Use uzjx omd v=ze'and m&'—jrak_ (). b,, Par+s.ﬁ”jf__'_ '_ '_”
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Nowlinear Twterior Layer example

ey e ud PIRS zo

~ As a first order system

u!/ = w

_Mas a sole equilibria (0,0) which is a center.
. Phas e pe ctrait
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. O(t.‘)- '._" :

T .

| Bow\Aar’ycm&-hm cvrves u T A draunm,
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Lover ®KE€(O, V)
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a k '30, ey o

\a,l.r-)':O not PDSs‘Llf_ since (o O)ejuul bria:

43 (x) = ~3x+ Cy
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_ Inner Problem
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.

Thus +he B- Layer'-l-h.ckness is Ste)=£ and
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) R . BP0
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B
| Mo o

faie,ld.s two equatins for X and ¢,
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where
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mY-3 lca.timj ordef we. may assume ¢, =0 w.l. aj
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